Quiz 4 EC262 Name:_solutions

Section:
Date:
Show all work!
1. (4 points) For the following circuit,
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Complete the timing diagram below.
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2. (4 points) For the following circuit with one input x and one output z,
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Complete the state table below
A*B*
AB x=0 x=1 z
00 00 01 0
01 00 10 0
10 00 11 0
11 00 00 1
3. (2 points) For the following state table with input x and output z,
01 02 a* O z
x=0 x=1
00 01 11 1
01 00 10 0
10 11 10 1
11 00 11 1
Draw the corresponding state diagram
Input: x

Output: z



